4 3 4 2 1

CONFIDENTIAL NOTICE: This drawing and the designs, specifications , and engi i ion hereon are the property of Eberhard Manufacturing Company and are not to be disseminated or reproduced without express written consent. This drawing is loaned in confidence and then only for the consideration of the matter disclosed hereon. In accepting loan of this drawing, recipient agrees to keep it and the matter
disclosed hereon in confidence and not to use or perit their use in any way detrimental to Eberhard Manufacturing Company, Division of The Eastem Company, 21944 Drake Road, Cleveland, Ohio, 44149-9712 ® 2021 EBERHARD MFG. CO.

NOTES:

6.69 REF. 1. FINISH: BLACK POWDER(GLOSS):FC(30)

2. KEYS AND LOCKS ARE NOT INCLUDED WITH HANDLE ASSEMBLY. HANDLE USES
LOCKS: LNL-70-01701RW THRU LNL-70-1720RW AND KEYS: LNL-74-01801RW THRU
LNL-74-01820RW, KEY NUMBERS 021L THRU 040L.

+.03
@1.25 " =00
1.75 REF.

g1t + 03 3.15

H +

RECOMMENDED APPLICATION HOLE PATTERN

!

1.69 REF. WASHER WITH 4 FLATS

1 i \

M6 FENDER WASHER :Eﬁ:\ T
EPDM UV STABLE GASKET 1.60 REF.
M6 LOCK WASHER
M6 NYLOCK NUT 1 1/8-16 HEX NUT

3.15 REF, —= PLASTIC CAP TO BE PACKED TORQUE TO INSTALL
SEPARATELY 10-32 FASTENER SHALL

BE 10-25 IN-LBS

v}

l70-01 760 SH1.idw

CUSTOMER PRINT EBERHARD MANUFACTURING CO.
DIVISION OF
THE EASTERN COMPANY
THIS DOCUMENT IS IN ACCORDANCE WITH ASME Y14.5-2009 CLEVELAND, OHIO 44148-9712
LINEAR MEASUREMENT: INCH DATE |NAME
UNLESS OTHERWISE SPECIFIED 12/2/2022
TOLERANCES ARE AS FOLLOWS: —————
N | OWN-BY EL5 HANDLE ASSEMBLY
REVISION HISTORY ANGLES: 120 +2° Sg"y -
REV DESCRIPTION EN DATE REV. BY APVD. BY 2 PLACE DEC: £ 03 . 7 /; MATERIAL PART NUMBER
INITIAL RELEASE - DRW MANUFACTURED ASSEMBLY 6079 121212022 MM MR 3 PLACE DEC:: £.015 +.38 =ws— SEE INDIVIDUAL LNL-70-01760
1| CHANGED FINISH FROM 53C TO 30. ADDED LOCK AND KEY NOTE 6110 712112023 MM MR ALL HOLES: +.005 +.13 PART DRAWINGS

4 3 4& 2 1

C:\Working_Folder\Archive\LNL\LNL!




